oy 25

Which answers are solutions of the graph? A ﬂ
a) (2.0) w7
(0.4) o |
c)(2.8) :
(“2'0) &
e (4.1) 7
Slope: q — ;\ 40 - 5 ‘. ] pra i g
Y-intercept: ) w
( O | L’D
\Y
Which answers are solutions of the graph?
_ X A
o,-:s) \
o) (-4,1) 0
c) (2.8) :
) (3.1) :
€) (-8.9) 5
Y KR F) A\ - ] D>
Slope: 5 ! + !
- X
NAY
WENRN
Y- intercept : CD ~ 3 :
| vy




.Iwolinear functions are described below. Based on the information below, which of
the following statemenis are frue? .
M= -3

Function 1 has the equationy =-3x+ 5 b = 6
Function 2is a line passing throughthe points (0, 5} and (5, -10)

’ X" ( XL
Funcﬁon 1 and 2 have the same slope. 5‘ 3z
(B. JFunction 1 and 2 have the same x-intercept S
\cJJ Function 1 and 2 have the same y-intercept - O -

Funcﬁon 1 and 2 represent the same lines. = —

5-0 5

N = -3 +5

1. Determine the rate of change and explain what it means.
B ‘ Time | Distance
(’{Q ‘/Vh (w M‘/ hOU ( (Hours) | (Miles) ﬂ -~
P 4 168 :
2. Write an equation in slope-intercept ( > % (‘/' } pu

Form O - 6 252 _ -
\* = L}& AT 8 336 5
10 420 L(

3. What does the y-intercept represent? o

- O hours | Twey weve” 0 muled 7

o

4
VN

5 s

Iy

)

1. Determine the rate of change and explain A
What “. means Amount of Dough Prepared (kg/hr)

20 _ 100
T 2 Y,(j o5 dowg\n 0

?' (- {{z’&rﬁé ?{\f ]/\DU&( Dough Prepared

~

0

v . N in kg 60
2. Write an equation in s0
Slope-intercept form. 40
30
~ . 20
=AYt "
10 20 30 40 50 60 70 80 80100
3. What does the y-intercept represent? Hours Worked

M O hours fware

wad 0 Ky of dosn pepared

4



1. Determine the rate of change.

HO - -~ 40 _ _ 20
0~ 1% -1 ¥ g

2. Write an equatlionin
Slope-intercept form.

N = -22X +40

3. What does the y-intercept represent?

Height inm

Height Above the
Ground of a Rock
Climber Over Time

50

45

{0,140)

40

an

peSd

30

25
20
15
10

I

=

™

NS

N\

18, ©)

2 4 6 8 10 12 14 16 1820

Time (Seconds)

The 1ocle Climber Stavied
4O WM Gbeue tuul grovind

Which iable represents a linear function with the same slope asy = - 4x+ 5

put in the jar, it adds 3 grams.

+
1 \
& - . b. 2]- i[z] 2= -
= [0Ti12734]3.3 ;131279 A
vy |3 ]61]9 [12]15] 1\ -
\% =2 4
¢l 20 - E[2[AJoJi]2] 2-~4
x 1011213141 4 - y |10]15[20]25/30] |
y | 8| 4]0 |48 | 7T-Y4 5
N .
+ +5
Calculate the slope and explain what it means Weight of a Jar with
Marbles
{i o.)S ; every time a marble is put in i
e jar, it adds 3 grams. - 140 4
3 £ 120 A
b. 1/3; every time 3 marbles are _@,.»“: 5 g 100
putin the jar, it adds 1 gram QO =~ 80 7
£ 60 ,
c. 3/2; every time 3 marbles are '% 40
put in the jar, it adds 2 grams. 2 2 7
! X
d. 2/3; every time 2 marbles are 0 10203040506070
Number of Marbles




sn Final 2xam  foviewd - Mondos — fact 4(5

Iff(x) = -2x + 2 then find f(-2) Ifg(x) = x2 + 5x, then find g(-12)
=3 £ = 1)+ 5 (-12)
-4+ 2 ::.i - \ :
=204 ]

If f(x) = -4x + 7 then find f (3) If f(x) = -x+4, then find f(-3)

e =[5y - ('§>++qq =il

A company makes cell phones where f{x} = 32x + 40 represents the cost fo make the
phones and x represents the number of cell phones made. Which statement is

correci? / Plog in + 0 Bwnd (OOt
of (llphonds
a. It costs $8 to make two cell C. It cosis $320 fo make ten cell
phones phones
It costs $200 to make five cell d. It cosis $72 fo make two cell
phones " phones

32 () Yo = 100V

Which of the following is a solution to the function f(x) = - %x -6

S L\ S, = =5\
o) (0.-6) - é——(g\-{o = b NS

o) (5,19) Pi‘i(g) -, = -85 NO
ar oL (3) - L= 45 NO



Which of the following is a solution fo the function f(x) = 3x + 4

S

a) (-2,-11) 3(_2\ .{\U‘ —

b) (0. ¢)

c) (6.-9)

d) (10, 34)

g (o) +4

5(03 +4 = {

-2 NO

NO

=349 N

Which of the following is a solution to the function f(x) = -2x +1 2 Circle all that apply

(Do

-2(6) 4+
o+

a. (4,0) b. (3,7)
AU )
~3 +) "l

sl )

(8,-15
«—;\(ggﬁ-t
— 1 +1

LV

—S

¥

v

~}

™

Determine the domain and range.
{(-3,-6)., (-1, -6), (5, -6), (8, -6) }

Domain: f‘?),“\ ,5, ?3
Range: {,’“Lpé

Is this relation a function? Explain your
reasoning.

NS, Caun nput 1as
exaci\yg Oe  Output

Determine the domain and range.
{('2' 4)! ('2: 0), (6' 5): (Or '2)}

Domainzz'~3~,®‘(o§ ’
Range: i“&,D,L\,%%

Is this relation a function2 Explain your
reasoning.

VO -9 NuS o Tian

ol  Output \



Determine the domain and range.
VAN

v
Domain: - X > —Y

Range: \] > O

Is this relafion a function?2 Explain your
reasoning.

NES , passes ULt

Determine the domain and range.
YA

T
-?\\n h & o

A3

wdf

<

\Y
Domain: | £ Y& 3
Range: ,
eage Y23
Is this relation a function? Explain your
reasoning.

NQ, FeulS VLT

Determine the domain and range.

y
A
Az
3
o
. et .
1 >
<& >
S L I { ] ¢
y8
A s
/i
4NN
Y

Domain: X <& 5
Range: 7 ;f: &

Is this relation a function? Explain your
reasoning.

NeS, passes VLT

Determine the domain and range.

TN

T ]
\ |
\ !

A

Domain: Al HS
Range: \} S O

Is this relation a functione Explain your
reasoning.

ey, fasses ULT




Determine the domain and range. Determine the domq{n and range.

Number of Identical | Regular Cost of
Notebooks Notebooks (No § )“ b
Discounts) T X “}
7 5.53 ) T %’:;
2 1.58 E R EEEREEELE .; 1
5 3.95 Y \~~33
3 2.37 .
Domain: fi Q 3 > 7?3 Domain: ﬂ‘, - { ( ) 2 %
Range: ¢ Range: i
#§ 15g,2.21,39555% 7§ 2 g 203
Is this relation a func‘none Explain your Is this relation a functiong Explain your
reasoning. reasoning.

@y, eaun rnput  |NO, 2 hes
nas ono. outpur |[Two  QutpuT S

Answer the following questions
about the graph below 1. What is the domain and range?

A .
Rate of Soot Production (kg/hr) Domain: O C K L Q
Range: | & K/ C— L”

Rate of Soot
Production in kg

2. How much soot is the fodoryck Mad

-
B L T T T R I I T =

\ 2.% Ly

> 3. Whatis a reasonable domain?

f 2 3 4 5 6 7 8 8 10

fny # betuoean
O 4 9

> AN producing at 122 >( QxS
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Solve for x. Solve for x.
-(x + 5) = 3x + 2(x - 4) 3X - 6X + x - 7 = -15x
“Y"S:BX*FQY"% ~<X=-7 = <-I¥X
—Y -4 = 5)("”8 = X &Y
) +X T o Bl RV
- - A
—~ B
3 = ¢ =4\ “ = |
Solve forx. (o [0 Y Solve for x. -
“2X = (8 —4x) =-18 + 2x 75=3(-éx-5)
“l -~ +HY¥ = ~|Ftr2¢ TS ==18X~IS
2N =8 = —|g+ax |5 TS
T2 Qo =-1% X
¥ = - -1 0
@@ s0luH oy [-5 =%

Describe the steps in both math and writing for solving the following problem: 3x (2 + 5x)=12

Math Written
SX=2=5Y =12 (DLDistripute = Siown
~AX - =\ e ,
o 42 AYONZILCER N e
2 %= Iy QN Q_ Z
> - (@ e b —=x

K=




A+ 6=1—4k—1 4b—4)+ 8 =88
S G Xt Ub-1G6 +8 b = -§<
b=0 2616 =78
\ il +10
NG Solut ON A2k =T
(7 [ 7
~18 ~8n=2(-6n+5) Tp+4~4=-12+Tp+5+7
- =~ 11 + O ShE
tleve 4+l e =r
SRR 0=
; MG SoWhons]
rre A el [Infinite Soluhons
1+6n+6n=—6+4n+Tn — ~198 =-3(~6 + 7n) — 6n
H12n = -G + Iin 19 = 18 -2ln (N
~ — N -y = 19 -2
— -\ N
4+ = - 4 S
IS 2l T 2
Jn =11 ] —aa
/% = n|
canitepresentiedl worldiprobléms

The length of a rectangle is 7 cm more than twice its width. The perimeter of therectangle is
32 cm. What are the dimensions of the rectangle? ‘
widiih =3

\ﬁﬂﬂ\wﬂ Il(;{ W= %{;}»—
W w7 - -
(o (v 13 Cun
o= 3

The length of the rectangle is 6 in. more than its width. The perimeter of the rectangle is 44 in.
What are the dimensions of the rectangle? -
Wwidth = ¢y

. oo , [ i
1+ =4
LV e

i

bngth= G ty

3)




X y | Which linear equation models this table?
*S/C —_]50 2 ) 13 a. y=5/3x+9 =3/5x+9
(5) 19;_ - c.y=? d. y=9x+3/5
10 15
2 M = ..3_

S
b =9

the fable:
X Y
0 11
0.5 12
1 11
1.5 5
2 0

Saif Is sitfing on top of a building and tosses a ball down to his friend who is on the
ground. The height, y, in feet, of the ball is a function of time, x in seconds as shown in

Which statement best describes the meaning of the y-infercept of this
function?2

@The ball is originally 11 feet above the ground.
. The ball reaches a maximum height of 11 feet.
c. The ball takes 12 seconds to reach the ground.
d. The ball reaches a maximum height affer 12 seconds.

Graph the inequality Graph the inequality
Y>2X+4 A ; ,m‘ A
AT Y £-3x -4 :
/ 4y and \
/! WAV 8 N \
Waiay V@AY, h \\ \
AV RATLYAN
AR BV VAR WAY
IATA/ A AAY
< Y V/ » 4\\ ‘\\R A N
‘~w/// FRIE > 3 Ny \( ?
/i 7 \
,////// : \\ § \\\
AT VENAAERNR
//// * % \-5
177 * AN \
7 i NEEN (AN
17 : \ \WLYAY
\/ ¥ N Y \J

=T




Eansolveinegualifies

Solve then graph 4 > 2(-x - 8)
B + 2 < 2x - 4 H > -G
= e T
Sy £ 2%~ 12 > -ax
xRV —> -2
— “LL X ar XD
3K Lt S
3 3 < T ¥ i T T 7
. Y4 3.0 - O 2
X L-> -1 ~G-S-Y
n - 8 < 12n + 4 3 £ -3(x - 9)
~ 1 =l 3¢ 3y + 27
- - < L _ —~ -
Smﬁrg 1Y 27 -;i
-2n 4 1 V\'>“L(L %fi & '5;73(
-z s >
S | ~F £ o ety =
WS B | 3<% o 3o -
76 > 4(1 * 6k) 80 = —4{~5 +3x)
~~‘k@ >...L+ + al 0 > 20— 122 Y
“ Y 20 -2
T2 > Yl Lo > -px T
QY Y R ~1> =52«
3 > )y or LLPp ar x4
p f ] % ] i N
P ~l ~b 54
L2 34 5
~4{-6-3a)+4> 62+ 16
Q4+HRa+U > Gat+\(,p
>a+39 > (Gat+l( ~
—(p ~Ga —————f>
R \j 3y 2 -\ O
o tag > (b 3
~2F —2.< P
Ga > -1 G > —a. "1



